Anbauhinweise Crash Ball Achsprotektoren Art.-Nr.: 556K135..

Wichtige Montagehinweise:
Kontrollieren Sie wenige Tage nach der Erstmontage den festen Sitz der Crash Balls und danach regelmaBig im
Abstand von ca. 3Monaten. Schrauben bei Bedarf nachziehen.

Anbau links

Diibel

Achsinnensechskant 12

Kunststoffeinsatz

M6x55 I||| T || T

Crash-Ball

Anbau rechts

Dibel
Achsinnensechskant 12 Kunststoffeinsatz

.
T || ||| || |, 1 M6x55

h h I - — |
” |I I| ||I II I, ; 1 I ]

L]

Crash-Ball

LSL

LSL-Motorradtechnik GmbH - D-47809 Krefeld
www.lsl.eu

Rev.00 27.10.14



Fitting instruction Crash Balls for Axle Protection part.-no.: 556K135..

Important mounting instruction:
Check the Crash Balls for proper fit a few days after first installation, then periodically every 3 mounth. Tighten

them again if necessary.

Fitting left side

insert

Plastic insert hexagon socket 12

Crash-Ball

Fitting right side

insert
hexagon socket 12 Plastic insert

|
L]

Crash-Ball

LSL

LSL-Motorradtechnik GmbH - D-47809 Krefeld
www.lsl.eu

Rev.00 27.10.14



Instructions de montage pour protecteurs d’axe Crash Ball
N°article: 556K135..

Important :
Contrélez le serrage quelques jours apres le premier montage, puis régulierement, tous les trois

mois environ.

Montage gauche

cheville
Piéce en matiére synthétique Int. hexagonal de 'axe 12

M6x55 ! II Ill' II Hifl II

[1]

Crash-Ball

Montage droite

cheville
Int. hexagonal de I'axe 12 Piéce en matiére synthétique
r__/
: || || T || T __{ M6x55 —
o — o= =
aiilii -1 L
L__\

Crash-Ball

LSL

LSL-Motorradtechnik GmbH - D-47809 Krefeld
www.lsl.eu

Rev.00 27.10.14



	556K135
	556K135 GB
	556K135 FR

